MULTIPLICATION: DECIMAL NUMBERS (H - SET 5)

CHALLENGE N o
151) 8 % 15.6 = 166) 11 X 242 =
52 (0.0002 x 0.0255 = 67 (0.001 x 66 =
153 (0.04 x 0.392 = 699 x 0.307 =
159 1 % 0.0407 = 169) (.5 x 0.029 =
155 2% 0.82 = 1700 0.01 x 372 =
156) .02 %X 7.4 = 1) 0.03 x 3.14 =
57 (0.0008 x 0.185 = 1720 (0.005 x 28.8 =
158 (0.0002 x 1.01 = 173 (0.0004 x 0.0186 =

159) (0.1 X 273 =

160 5 x 0.118 =

w61 (0 x 0.006 =

162) 1 % 0.286 =

163 (0.2 x 0.004 =

160 11 x 0.0252 =

165 (0.08 x 4.81 =

Mathematics: Multiplication - Level 6 - Horizontal - Set 5
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b x 136 =

0.06 x 0.0387 =

0.005 x 43.7 =

3 X 125 =

0.0007 x 259 =

0.02 x 0.322 =

0.0004 x 3.66 =
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